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2025 FE wHIEE [B #] EE#-t = (8 & 40
(£61D5H 1HKH)
W H-O, + SO, — H-S04
( HO2 + S0 — S04 + 2H* )
R 1 WEEkAKFE | HO0, + 260 + 2HY — 2H.0
(2 5
ZEHLEEE | SO, + 2H, O — S04 + 2e +  4HY
2KBr + Clh — Brz + 2KCI
B 1
W =B (2B + Cbh — Brn + 2CI )
2Kl + B, —> | + 2KBr
5 B 2
i 2 xR (29 + B — I + 2B )
2 (38) Cly > Brz > I2 (59)
(GHELRRR)
RHRERESE 1 L OE &I, 1800 g T, TOHFICEENIHBOERIL,
(D) | 1800 g% (98/100) =1764 g TH 5,
Hil% 98 g/mol DWEEIZL, 1764 g / 98 g/mol=18 mol
2 18 mol/LL
GHEBE)
1.0 mol/L WiB&/KEEK 500 mL % FHE3 2 DI BB OB &I,
1.0 mol/Lx0.5 Lx98 g/mol =49¢g ThH 2D,
(2) | 98%IED 1 L IZEENDMEBOEEIL, 1764g THD,
XoT, ImL HIZiX, 1.764g OREENE TN D,
fil 3 49g / 1764 gmlL=27.777 mL
% 28 ml,
GHE®E)
BERHOBEBKEE XmolL &35 &, FO20mLI3iE, Xx (2.0/1000)
mol DIRBE{LKFEZ ST,
WEICE L~ T B 7 AKERFIZIE~ T VB U 7 L3,
0.10x (4.0/1000) mol &£ 5,
Q) i HUBES U Y L LR AED T 255 Th DT,
0.10x (4.0/1000) :X x (2.0/1000) =2:5
X=0.500 mol/L
& 0. 50 mol/L,

(26D B 14H)




2025 FEE AR [(E H] eFE#-E F 8 F H)

(26D H 28H)
7 b (1) ) () G (=) (g
1
) 0 (#) () (%) () (7) (e)
GIEER)
R OMTERE, FORFOEBHICELWET D,
BCI DIFELE X% T2 &
Rgg | 35.0xx/100 + 37.0 (1 — x/100) = 355
THHND
x = 75%
4 3505 - 37 = . -
o, BCL:ICI=75:25i2/25, B o®CTC= 3 - 1
o) N @) (@)
GtEaR)
33 12.5% (U Wb L= Z &, 17190 ST o 3 {51241 5,
" T, “C Ol
(3 | 17190 /3 = 5730 4F
v 5730 &
(GHERFR)
1L0gDT T 7 2 NIEENBREFRFOFIL /120 x 60 x 102 Th 5, 1EO L 5B
DORFBIFFHUIRERF 2 ENHYETHOT, 1L.0gDF T 7 =421 1/12.0 x 6.0 x 102/
2EDN B BBEFEET D, HEOSE U ROEREE,
(1.40 x 10719 sin(7/3 )x 1.40 x 1071°/2) x 6 m>
RN TS5
(0.70 x 10719% V3 x 1.40 x 1071°/2) x 6 m* T 5.
-, 1.0g H7=0 OEFEL,
1/12.0 % 6.0 x103/2 x (1.40x107 ' x sin(n/3 ) x 1.40 x 107192y x 6 = 1297.5 m%g
& 13 x 10° m%g
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2025 FFE AINAEEE [(E H] LFEEBE-E F R EF M)

(Z6fDH> B 3FE)
GHELERE)
iﬁtg@}imﬁgﬁl—’S 61;
— -2
Tyg = — (6.00 ; '341) X107 0.62 x 1072 = 6.2 x 1073 mol/(L- h)
M1 mese,
_ (5.06 — 6.00) x 1072 Y s
Dyys = — =3 = 0.47 x 1072 = 4.7 x 1073 mol/(L - h)
B T, = 6.2 x 1073 mol/L-h), ;5 = 4.7 x 10~° mol/(L-h)
2 | 465
8 | EM b R —0 L 0 /DSOS CRUSHEITT 5729,
GHEa®)
HE 25 12. 0 mol AR L7280 9 Z B, He B KON b iTFF1 6. 00 mol SUGIZEDI
TWBZ LR BTD, RO Ho B L O OMEEIZFNFH 2.00mol TH D, L
oo, FEERKIL,
4
12.0
(= [HI]? (G5 mol/L)? a6
= =72.00 2.00 =
Halllo] 222 mol/L) - gy mol/L)
%K = 36
1 = 2) BE_ 20
5
(3) BEIL 20

(Z6HDSHLIKE)




2025 £/ miMIEER (B H] bRE# - F (E E H)
(26D H 44H)
| A (b) B (e C (@ D (@ E (c)
A | HSO4+BaCh — BaSO«+ 2HCI
2) ;
B | NaxCOs+BaCh — BaCOs+2NaCl
H (3) | AgCl
4 | CO2
© Zn(OH)2 + 4NHs  —  [Zn(NHz)4)> + 20H"
FEDDAEFR A [Zn(NH3)a)(OH)2 L ENTHF)
w o, @
@ | - CuS (1) Cu(OH):2 () CuO
(3) Cu+ 4HNO; — Cu(NOs)2 + 2H,0 + 2NO;
(FHRIREE)

2

)

FKIZERIT 72 CuSO4 « 5H20 : 30.0-5.0=250g
CuSO04 + 5H,0 (& 249.5)
KIZEfR L= CuSOs (NE 159.5) OEEZRDD &,
CuSO4:25.0x159.5/2495=1598¢ = 160¢g

CuSOs * 5HO BEMNLTEKDEE xg & Lz & &, 20 CORFIKERICE
W, KT DIEMEEIZ 20 TH D,
LT, 16.0/(x+25.0)=20/(100+20)
Sox=71

¥

71 g
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2025 WM [E H] tRE@R-E P (8 EF H)

(B6KDIH5E)
Bl b RO SO ARRBEIC L > CHFRLAH Bl 249 7,
(HEE0)
OH
H3C"9_CH3
2-AF )TN —jb
B8 5 (FREH)
XIS RIRS IR
GHEIERE)
&8 540mg 2OV,
[R5 1 13.2mg X 12.0/44.0 = 3.60 mg
7K3E : 5.40mg x 2.0/18.0 = 0.60 mg
4 | gt : 540 mg — (3.60 mg + 0.60 mg) = 1.20 mg
HMRAE CHO &9 5 L,
X:y:z=3.60/12.0:0.60/1.0:1.20/160=4:8:1
& C4HsO
5 | D (FREE) E (fREm)
XEHIT ARSI XIS RIS

(26D H5H)
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2025 sk AWTRARTE [(H ®] tFEE#E-k P (BEEF H)

(Z6DH>H64E)

R 1

(7) @ 1) () (7) (©) (=) (k) ) (i)

fi 2

(18150

THOH
-,,,,%,;- C — C e e
L Hon.n

fi 3

o AT U AREET, BHICTE MTATF e RIZEME L TUEY, HEERN
N#ETH D20,

R4

FHELEE)

PVAc D < ViR UHBATOREIL 86, 4.3 g @ PVAc HiZid, < ViR LB OWEENR
43 /06 = 0050 molEEN T 5, LA >T, Z0PVAc &5ERITIT AT BT0IiT,
A 0.050 mol D/KERILT R U T ARMETHY, FDEEIT0.050 x40=2.0¢g

% 2.0 g

b

GHELEE)

PVAc D4y f&lIL 8.6 x 10* ThH2bL, LInbELNRD PVA O &,
8.6 x 10* x /g = 44000, PVA D < ViE LHAIONEIT 4 TH Y, BEEED
1) | BEREEn LTH L, 44000 = 44n, L7=HA-T n= 1000,

¥

SFE T 44x10° BHEE: 10x10°

GHEEE)
ATOL VIRLEMICE Fr$ER—oFENTEY, 205 H0 50%% 7+
F=E LT8G, PVA O WIRLEAL LT 25—/ LIz o< VR UHAL
@) | GUE100) OFUFENEN 500 & 250 LD, LIcio>THFEI,

44 x 500 + 100 x 250 = 47000 = 4.7 x 10*

& 4.7 x 10

(Z6HDH>HL6KHE)




